



Calculate each result.

1. $\frac{15}{7} - \frac{2}{6} = \frac{90}{42} - \frac{14}{42} = \frac{76}{42} = \frac{38}{21} = 1 \frac{17}{21}$
Denominator Solve Simplify Convert ↓

2. $\frac{9}{5} - \frac{5}{9} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

3. $\frac{11}{9} - \frac{2}{10} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$

4. $\frac{13}{7} - \frac{1}{9} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad}$

5. $\frac{33}{9} - \frac{7}{4} = \underline{\quad} - \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$

6. $\frac{10}{4} + \frac{10}{11} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$

7. $\frac{10}{3} + \frac{26}{7} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$

8. $\frac{7}{8} + \frac{31}{9} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$

9. $\frac{14}{9} + \frac{57}{17} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad}$

10. $\frac{15}{6} + \frac{22}{17} = \underline{\quad} + \underline{\quad} = \underline{\quad} = \underline{\quad} = \underline{\quad}$